
Analiza odgovora

Ljetni rok 2011./2012. - Psihologija, svi kandidati

Pitanje Odgovori Status odgovora Broj kandidata Postotak Q1 % Q2 % Q3 % Q4 %

1 - Neodgovoreno 17 0,45 41 29 18 12

1 A Netočan odgovor 378 9,91 41 30 21 7

1 B Netočan odgovor 812 21,29 28 27 27 18

1 C Netočan odgovor 272 7,13 60 27 10 3

1 D Točan odgovor 2335 61,22 17 23 27 33

2 - Neodgovoreno 19 0,5 47 37 11 5

2 A Netočan odgovor 546 14,32 47 29 18 6

2 B Netočan odgovor 555 14,55 47 31 15 6

2 C Točan odgovor 2656 69,64 15 23 29 33

2 D Netočan odgovor 38 1 68 29 3 0

3 - Neodgovoreno 17 0,45 41 35 18 6

3 A Točan odgovor 1658 43,47 9 17 28 46

3 A;B Neispravan odgovor 1 0,03 100 0 0 0

3 B Netočan odgovor 1683 44,13 32 33 24 10

3 C Netočan odgovor 380 9,96 57 24 15 4

3 D Netočan odgovor 75 1,97 53 31 15 1

4 - Neodgovoreno 20 0,52 40 45 10 5

4 A Točan odgovor 3249 85,19 20 24 27 29

4 A;B Neispravan odgovor 2 0,05 50 0 50 0

4 B Netočan odgovor 230 6,03 45 30 23 2

4 B;D Neispravan odgovor 2 0,05 100 0 0 0

4 C Netočan odgovor 122 3,2 50 30 19 1

4 D Netočan odgovor 189 4,96 60 30 7 3

5 - Neodgovoreno 18 0,47 39 44 11 6

5 A Točan odgovor 2545 66,73 14 22 29 35

5 A;C Neispravan odgovor 2 0,05 0 0 50 50

5 A;D Neispravan odgovor 1 0,03 0 100 0 0

5 B Netočan odgovor 334 8,76 47 29 17 7

5 C Netočan odgovor 204 5,35 29 31 34 6

5 D Netočan odgovor 710 18,62 52 33 13 3

6 - Neodgovoreno 23 0,6 48 30 9 13

6 A Netočan odgovor 672 17,62 32 34 23 12

6 A;C Neispravan odgovor 1 0,03 0 100 0 0

6 B Netočan odgovor 797 20,9 29 28 28 15

6 B;C Neispravan odgovor 1 0,03 0 0 0 100

6 C Netočan odgovor 1250 32,77 35 30 24 11

6 D Točan odgovor 1070 28,05 6 11 26 57

7 - Neodgovoreno 26 0,68 35 35 23 8

7 A Netočan odgovor 1135 29,76 31 33 25 11

7 B Netočan odgovor 500 13,11 36 27 29 9

7 C Točan odgovor 1632 42,79 9 19 26 46

7 D Netočan odgovor 521 13,66 50 26 19 5

8 - Neodgovoreno 29 0,76 45 21 24 10

8 A Netočan odgovor 1245 32,64 26 27 28 18

8 A;C Neispravan odgovor 1 0,03 100 0 0 0

8 B Točan odgovor 1238 32,46 15 20 25 40

8 C Netočan odgovor 861 22,57 31 21 24 24

8 D Netočan odgovor 440 11,54 36 40 20 4

9 - Neodgovoreno 27 0,71 48 37 11 4

9 A Netočan odgovor 353 9,26 47 33 16 4

9 B Netočan odgovor 701 18,38 33 31 27 9

9 C Točan odgovor 2434 63,82 16 22 27 35



9 D Netočan odgovor 299 7,84 49 28 19 4

10 0 Netočan odgovor 500 13,11 49 22 17 11

10 1 Djelomično točan odgovor 6 0,16 0 17 50 33

10 2 Točan odgovor 3080 80,76 16 27 28 29

10 NO Netočan odgovor 228 5,98 91 9 0 0

11 0 Netočan odgovor 1837 48,16 27 32 26 15

11 1 Djelomično točan odgovor 60 1,57 12 20 42 27

11 2 Točan odgovor 1223 32,07 2 13 32 53

11 NO Netočan odgovor 694 18,2 61 28 10 2

12 0 Netočan odgovor 888 23,28 23 34 28 15

12 1 Djelomično točan odgovor 771 20,21 2 13 35 50

12 2 Točan odgovor 525 13,77 1 7 24 68

12 NO Netočan odgovor 1630 42,74 45 32 19 5

13 0 Netočan odgovor 1852 48,56 25 34 29 12

13 1 Djelomično točan odgovor 1 0,03 0 0 0 100

13 2 Točan odgovor 1067 27,98 1 6 27 66

13 NO Netočan odgovor 894 23,44 54 30 15 2

14 0 Netočan odgovor 695 18,22 27 29 29 15

14 1 Djelomično točan odgovor 1000 26,22 14 33 35 18

14 2 Točan odgovor 1059 27,77 2 11 26 60

14 NO Netočan odgovor 1060 27,79 57 29 12 3

15 0 Netočan odgovor 749 19,64 46 37 14 3

15 1 Djelomično točan odgovor 634 16,62 21 40 31 8

15 2 Djelomično točan odgovor 716 18,77 5 27 40 28

15 3 Točan odgovor 1098 28,79 1 8 30 62

15 NO Netočan odgovor 617 16,18 70 23 6 1

16 0 Netočan odgovor 1901 49,84 21 27 29 24

16 1 Djelomično točan odgovor 33 0,87 18 39 15 27

16 2 Točan odgovor 1245 32,64 15 21 25 38

16 NO Netočan odgovor 635 16,65 57 27 12 3

17 0 Netočan odgovor 582 15,26 53 32 12 3

17 1 Djelomično točan odgovor 2 0,05 50 50 0 0

17 2 Točan odgovor 3092 81,07 17 25 29 30

17 NO Netočan odgovor 138 3,62 93 7 0 0

18 0 Netočan odgovor 1370 35,92 26 38 25 11

18 1 Djelomično točan odgovor 435 11,41 3 17 42 38

18 2 Točan odgovor 1214 31,83 2 13 32 53

18 NO Netočan odgovor 795 20,84 70 25 5 0

19 0 Netočan odgovor 2194 57,52 20 29 30 20

19 1 Djelomično točan odgovor 6 0,16 33 17 33 17

19 2 Točan odgovor 593 15,55 1 6 19 74

19 NO Netočan odgovor 1021 26,77 49 27 18 6

20 0 Netočan odgovor 2129 55,82 26 30 29 16

20 1 Djelomično točan odgovor 288 7,55 17 32 28 23

20 2 Točan odgovor 943 24,72 4 12 26 59

20 NO Netočan odgovor 454 11,9 72 26 3 0

21 0 Netočan odgovor 2460 64,5 20 29 31 20

21 1 Djelomično točan odgovor 22 0,58 18 36 27 18

21 2 Točan odgovor 636 16,68 1 5 23 71

21 NO Netočan odgovor 696 18,25 65 28 7 1

22 0 Netočan odgovor 705 18,48 27 31 30 12

22 1 Djelomično točan odgovor 1154 30,26 17 30 30 23

22 2 Djelomično točan odgovor 607 15,92 5 18 28 49

22 3 Točan odgovor 329 8,63 1 3 17 79

22 NO Netočan odgovor 1019 26,72 53 27 17 4

23 0 Netočan odgovor 1577 41,35 24 31 27 18



23 1 Djelomično točan odgovor 104 2,73 17 27 34 22

23 2 Točan odgovor 1423 37,31 8 19 29 44

23 NO Netočan odgovor 710 18,62 62 25 11 2

24 0 Netočan odgovor 1957 51,31 22 36 29 13

24 1 Djelomično točan odgovor 3 0,08 0 0 33 67

24 2 Točan odgovor 1120 29,37 1 7 30 62

24 NO Netočan odgovor 734 19,24 69 25 6 0

25 0 Netočan odgovor 1506 39,49 28 34 27 12

25 1 Djelomično točan odgovor 40 1,05 13 33 43 13

25 2 Točan odgovor 1123 29,44 1 5 29 66

25 NO Netočan odgovor 1145 30,02 46 33 18 3

26 0 Netočan odgovor 926 24,28 35 40 19 6

26 1 Djelomično točan odgovor 8 0,21 25 13 38 25

26 2 Točan odgovor 2138 56,06 4 19 36 41

26 NO Netočan odgovor 742 19,45 73 24 2 1

27 0 Netočan odgovor 1564 41,01 26 33 31 9

27 1 Djelomično točan odgovor 21 0,55 10 43 38 10

27 2 Točan odgovor 1204 31,57 0 6 28 65

27 NO Netočan odgovor 1025 26,87 52 34 12 2

28 0 Netočan odgovor 500 13,11 53 32 13 3

28 1 Djelomično točan odgovor 2 0,05 50 0 0 50

28 2 Točan odgovor 3130 82,07 18 24 28 30

28 NO Netočan odgovor 182 4,77 78 16 4 1

29 0 Netočan odgovor 1709 44,81 21 30 32 17

29 1 Djelomično točan odgovor 415 10,88 2 11 38 49

29 2 Djelomično točan odgovor 225 5,9 0 5 24 70

29 3 Točan odgovor 294 7,71 0 1 12 87

29 NO Netočan odgovor 1171 30,7 50 33 14 3

30 0 Netočan odgovor 1321 34,64 21 33 33 13

30 1 Djelomično točan odgovor 31 0,81 3 6 16 74

30 2 Točan odgovor 1243 32,59 1 8 31 60

30 NO Netočan odgovor 1219 31,96 54 34 10 1

31 0 Netočan odgovor 703 18,43 48 32 16 5

31 1 Djelomično točan odgovor 10 0,26 40 50 10 0

31 2 Točan odgovor 2517 65,99 8 23 32 36

31 NO Netočan odgovor 584 15,31 70 24 6 0

32 0 Netočan odgovor 1933 50,68 21 33 33 14

32 1 Djelomično točan odgovor 1 0,03 0 0 100 0

32 2 Točan odgovor 873 22,89 1 3 21 75

32 NO Netočan odgovor 1007 26,4 54 29 14 3

33 0 Netočan odgovor 1620 42,48 18 31 33 18

33 1 Djelomično točan odgovor 3 0,08 0 0 100 0

33 2 Točan odgovor 866 22,71 1 5 24 71

33 NO Netočan odgovor 1325 34,74 49 31 16 3

34 0 Netočan odgovor 2293 60,12 22 31 29 18

34 1 Djelomično točan odgovor 142 3,72 4 12 33 51

34 2 Točan odgovor 694 18,2 1 9 26 64

34 NO Netočan odgovor 685 17,96 62 24 11 3

35 0 Netočan odgovor 1069 28,03 37 37 19 7

35 1 Djelomično točan odgovor 341 8,94 30 40 20 9

35 2 Točan odgovor 1900 49,82 4 16 35 44

35 NO Netočan odgovor 504 13,21 75 22 3 0

36 0 Netočan odgovor 175 4,59 62 21 15 3

36 1 Djelomično točan odgovor 410 10,75 46 34 16 4

36 2 Točan odgovor 2895 75,9 14 25 29 32

36 NO Netočan odgovor 334 8,76 78 18 4 1



37 0 Netočan odgovor 1139 29,86 40 37 18 5

37 1 Djelomično točan odgovor 105 2,75 15 30 28 27

37 2 Točan odgovor 1935 50,73 4 16 35 45

37 NO Netočan odgovor 635 16,65 65 28 6 1

38 0 Netočan odgovor 1227 32,17 32 34 23 11

38 1 Djelomično točan odgovor 333 8,73 10 28 36 26

38 2 Točan odgovor 1552 40,69 3 17 33 47

38 NO Netočan odgovor 702 18,41 68 25 6 1

39 0 Netočan odgovor 1707 44,76 26 29 28 17

39 1 Djelomično točan odgovor 420 11,01 3 16 35 46

39 2 Točan odgovor 567 14,87 0 5 23 71

39 NO Netočan odgovor 1120 29,37 45 32 18 6

40 0 Netočan odgovor 953 24,99 19 36 33 12

40 1 Djelomično točan odgovor 2 0,05 0 0 50 50

40 2 Točan odgovor 1599 41,92 2 12 34 52

40 NO Netočan odgovor 1260 33,04 59 33 8 1

41 0 Netočan odgovor 1990 52,18 27 31 29 13

41 1 Djelomično točan odgovor 3 0,08 0 33 33 33

41 2 Točan odgovor 891 23,36 0 5 22 74

41 NO Netočan odgovor 930 24,38 44 33 19 4

42 0 Netočan odgovor 1920 50,34 21 31 30 17

42 1 Djelomično točan odgovor 103 2,7 11 26 42 21

42 2 Točan odgovor 781 20,48 0 3 25 72

42 NO Netočan odgovor 1010 26,48 53 30 14 4

43 0 Netočan odgovor 1239 32,49 16 33 33 17

43 1 Djelomično točan odgovor 686 17,99 2 15 38 45

43 2 Djelomično točan odgovor 391 10,25 0 4 22 74

43 3 Točan odgovor 114 2,99 0 1 10 89

43 NO Netočan odgovor 1384 36,29 53 30 13 3

44 0 Netočan odgovor 1412 37,02 16 35 35 14

44 1 Djelomično točan odgovor 287 7,52 3 16 40 41

44 2 Djelomično točan odgovor 395 10,36 1 5 31 64

44 3 Točan odgovor 420 11,01 0 1 14 85

44 NO Netočan odgovor 1300 34,08 55 30 12 2

45 0 Netočan odgovor 979 25,67 26 34 30 10

45 1 Djelomično točan odgovor 332 8,7 8 23 41 27

45 2 Djelomično točan odgovor 295 7,73 2 16 44 38

45 3 Točan odgovor 808 21,19 0 3 22 75

45 NO Netočan odgovor 1400 36,71 48 34 15 4


